Box 6.4¢c: Correction cards

Content mistake cards
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I Art, design and technology

1 The particles in gouache are smaller
i than in watercolours. Gouache

1 dissolves in water.

: The Black Plague travelled about 10
. miles a day. It killed 10 million people
1 in Europe.
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: Music and drama

. A semibreve is half the length of a

. minim and twice the length of a breve.
 Itis sometimes written on the stave as
. hollow, sometimes as black.

1 Economics and business studies
1 Abusiness plan is written for a general
1 audience.

Anaerobic work is important for
marathon runners in order to build up
endurance to a maximum.

' Geography
! The last ice age began about 100,000
i and ended about 70,000 years ago.
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: Maths

: The volume of a cylindrical canister

» with radius 7 cm and height 12 cmiis
1 1845, 70cm3.

: Science

» Inaneutral solution, red litmus paper
 stays red and blue litmus paper turns
1 red.
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1 Art, design and technology

1 The particles in gouache are smaller
i than in watercolours. Gouache

1 dissolves in water.
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| History

1 The Black Plague travelled about 10
1 miles a day. It killed 10 million people
1 in Europe.

e e e e e e e e e e e e e e — - — - -

: Music and drama

. A semibreve is half the length of a

. minim and twice the length of a breve.
 Itis sometimes written on the stave as
. hollow, sometimes as black.

1 Economics and business studies
1 Abusiness plan is written for a general
1 audience.

marathon runners in order to build up
ndurance to a maximum.
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1 HTML stands for HighText Markup
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» Anaerobic work is important for

| Geography
1 The last ice age began about 100,000
1 and ended about 70,000 years ago.
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, Maths

1 The volume of a cylindrical canister

1 with radius 7cm and height 12 cmiis
11845, 70cm3.

: Science

. In aneutral solution, red litmus paper
 stays red and blue litmus paper turns
i red.
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1 Art, design and technology

1 The particles in gouache are smaller
i than in watercolours. Gouache

1 dissolves in water.

: The Black Plague travelled about 10
. miles a day. It killed 10 million people
1 in Europe.
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. Music and drama

. A semibreve is half the length of a

. minim and twice the length of a breve.
1 Itis sometimes written on the stave as
 hollow, sometimes as black.

1 Economics and business studies
1 Abusiness plan is written for a general
1 audience.
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Anaerobic work is important for
« marathon runners in order to build up

1 endurance to a maximum.
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| Geography
1 The last ice age began about 100,000
1 and ended about 70,000 years ago.

: The volume of a cylindrical canister
, with radius 7 cm and height 12 cmiis
1 1845, 70cm3.

, Science

 In a neutral solution, red litmus paper
 stays red and blue litmus paper turns
1 red.
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